Let £, and E, be two independent events such that P(E,)=P; and

P(E,) = P,. Describe in words of the events whose probabilities are
(1) AF, (1) (1 - P)P,
(i) 1-(1-F7)(1-F) (iv) P, + P, - 2P, P,
P(Ey)=FR and P(E) =R,
) AR, = P(g)-P(E,) =P(E, nEy)
So, E; and E, occur.
1) (1-R) PR =P(E)"- P(Ep)=PIE N Eyp)
So, E; does not occur but £, occurs.
) 1-(1-R)(1-F,)=1-P(EYPE,Y=1-PE,/NE,")
=1-[1-PE VE)]=P(E VE,)
So, either E, or £, or both E, and E, occurs,
V) R + B, =2RP, = P(E)) + P(E,) - 2P(E,)- P(E;)
= P(E,) + P(E,) - 2P(E, N E,)
=PE VE)-PE NnEy)
So, either £, or £, occurs but not both.



